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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],

Plot [['I",
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forEQ4AE_E2
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08:50 120 80.0 0.14 S| 1Ri%e08:50 Fz (REAEZEER)
10:15 120 80.0 0.14 S| Ri%e10:15 Fzi (REERESR)
11:15 120 80.0 0.14 | Bige11:15 Fzh GREERSE)
12:10 120 80.0 0.14 S| Rige12:10 Fzy (REEHE)
13:00 120 80.0 0.14 S| Rige13:00 Fz (REEESE)
13:55 120 80.0 0.14 s {Ri&e13:55 Fz (REAEHE)
14:50 120 80.0 0.14 BE| Rige14:50 Fz (REAEHE)
15:55 120 80.0 0.14 BE| 1Ri%e15:55 F3h (RFA{EREE)
Zit[1080.0 (9%) 720.0 32U KEC: 1800, PH: 5.9

TERRHER 2 STEIEAFF (85.0 :
ERGEBRT R IRR B Y (120 vs 157.0))

ZRIASERRIER61.0 ml.

61.0), FIREKRFERE

TESKRFMFEARABIZE, L &FHRECH 7 /42000, 2350, 2800, REIK

[El;%PH (6.92) @%‘
FREVFEIN S KiFE&PH 5. 91

[EKEC 3785.0 K&, EINFAKECHE&idEER
B RECE (2805. 0 vs 3785.0) his
REVR NS K KEC 1800. 0
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NF+———m—m————f——_—-——-—— —_———e—_——— e ——————————— ] - 1000
V1, V8SERV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 265

60 - 630 - 750
88 510 4967
40 - - 500
00
20 - 250
Warning: lcol [FVI',| "FVO’'] missing 16
= r 0

30T v —— ME H100

FRV (ml plant-1)

0.8 A

0.6

0.4+

0.2~

Warning: lcol ["WC1',  "WC2'] missing

0.0

optEC0=1886. 0, setECB=1800 —>—  ECB*10%
1900 ( ECC

X

1800 f-mmmm e e e e e e % 2

1700 ~

=

6.5 7 optPHO=6.5, setPHB=5.9 —¢—  PHB*10%

J PHC

6 0 ;. Vi N N N N N N N S
. S 7S 7S 7S 7S 7S 7S 7S 7

5.5 1

200 -
Bylnit @21 11:38: ET=812 Fg=810.0 Ro=32.0
150 - 1000

100 -
- 500

ET (ml/hr/plant)

50

208- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
7 | % | % [ W | W | ® | % | W | W [ #A | W | W [ W | W | W [ W [ W | [ W W% (5252

ByEt @D19 19:34: ET=767 Fg=549.0 Ro=nan

150 - 1000

100 -

- 500
50

ET (ml/hr/plant)

1

1

1

1

1

1

i

1

1
] @ o @ s 0
2004 O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
| | B | W | | W | B | B | W | | B | W | B | W [ || | B | B (55225 %a]5x

ByWoFv @D21 11:38: ET=567 Fg=720.0 Ro=204.0

150 - 1000

100 -
- 500

ET (ml/hr/plant)

a1
o
1

1.0 -

0.8

0.6

0.4+

0.2~

1500 < —_ 4
[ ] | _obs
—@— PPFD obs

e v P

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



19.

19.

19.

19.

19.

18.

18.

18.

17.

T
600

860
m=720,n FV0=0

T
1000

——

M_E

720

7é5
m=960,n FV0=0

T
730

——

M_E

960

965

970

19.

19.

19.

19.

19.

19.

19.

18.

18.

18.

18.

18.

17.

m=475, FV0=0

—0—

M_E

475

4é0
m=775,n FV0=0

T
485

——

M_E

775

780
m=1035n FV0=0

T
785

1036

1038
m

1040

19.

19.

19.

19.

19.

19.

18.

18.

18.

m=615, FV0=0

——

M_E

T
615

6é0
m=830,n FV0=0

T
625

——

M_E

T
830

T
835

840

20.

19.

19.

19.

19.

19.

18.

18.

18.

18.

m=670, FV0=0

——

M_E

T
670

675
m=895,n FV0=0

T
680

——

M_E

T
895

900

905




hour

100

80

:00 - 60

105

- 40

:05

:05

$ & D S
AR RN SN S S
(’,\ A N\ 2N 1N 1

S RO A G

A

\%_
%,
) -
T
ey
7
7
4
%,
&
. |

%

3,

R
-



EQ4AE

BYiE) | GEBERTIC (RD) | EBE (BAH/FK) | BREE (BF/R) | X8 e

06:30 120 70.0 0.122 B 1Ri%e06:30 Fzh (REEEE)
07:30 120 70.0 0.122 BS| 1Ri%e07:30 Fz (GREMEESE)
09:25 120 70.0 0.122 RE| 1Bi%e09:25 Fzh (KREERKSE)
11:00 120 70.0 0.122 | BRi%e11:00 Fzh GGREERSE)
12:05 120 70.0 0.122 S| Rige12:05 Fz (REAEHE)
13:05 120 70.0 0.122 BE| 1Ri%e13:05 Fzh (RFEAERE)
14:05 120 70.0 0.122 s BRi%e14:05 Fz (REERS)
15:10 120 70.0 0.122 BE| Rige15:10 Fz (REAEHE)
16:35 120 70.0 0.122 BE| 1Ri%e16:35 F3h (RF{EREE)
Zit[1080.0 (9%) 630.0 3253KEC: 2160, PH: 6.3

TERRHER 2 STEIEATRF (85.0 :
ERGEBRT R IRR B Y (120 vs 137.0))

ZRIASERRIER61.0 ml.

MEXRFEREH AR E, i K iRECSH 51772400, 1830, 2230, REKK

El;%&PH (6.83) R

FREVRIN S KB &PH 6. 29
RE XK i3k [B] S RECEUR Fhak.
RMEFREBIEC (2449.0) 5FMEC (3022.0) REK K, FRE
[E];%EC 4030.0 K5, ZEiLHBIKECAE & hEER

HEERECE (3022. 0 vs 4030.0) FE
FREVEIN S K KEC 2160. 0
LRGEREC (1848.0) S#EAVEY (2160) REHK KX, BHHRE.

61.0), FIREKRFERE
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EQ4AE

ByiE) | GEBIATE (FD) | ERE (BH/) | EBREE(B/R) | XS EFE

06:30 60 60.0 0.105 FE| 1BRi%@06:30 F3h (kPB{ERE)
07:30 60 60.0 0.105 [Z=| 1BRi%e07:30 Fzh (KREEZEEER)
10:10 60 60.0 0.105 [Z=| 1Rige10:10 Fzh (REAEZEESE)
11:35 60 60.0 0.105 |Z=| {Ri&e11:35 Fz1 (KEEZEHE)
13:15 60 60. 0 0.105 |[/\fE| 1Ri%e13:15 Fzh (REEESE)
14:20 60 60. 0 0.105 FA| 1Ri%@14:20 F3) (KAERSE)
24t 360.0 (6:%) 360.0 EUHIKEC: 2160, PH: 6.2

MEBEHERE STAARERSF (86.0 : 60.0), AJAEKREERME
ZRIASEBRIERE60. 0 ml.

MERMEBEHEDIRE, #H RiFHFRPHA BIH6.2,4.9,6.0, RERK
REREMPH (4.92) 5i&%EPH (6.2) BEKRK, BT
REFRESIPH (4.92) 5FPH (6.0) REKK, FHRT

El;%PH (6.75) /KD

FRAVGEIN S RFE&PH 6. 25

RE R I B ECEIE SR k.

BEREMEC (2547.0) 5FEMEC (3097.0) HEHK KX, B/E
[BI&REC 4275.0 K&, iU F{KECAE:&P%E R

HEEIKECE (3097.0 vs 4275.0) RS

FREVE NS R#HKEC 2160. 0

LRGEEREC (1505.0) 5 EE (2400.0) REH K, BHRE.
LORGEBREC (1505.0) S5#ERE (2160) REK X, HRE.
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